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Compare the Ho combustion of each (kJ/mol).  Which is higher?  Would you predict this from their chemical structures?  Explain. 








Calculate the standard enthalpy of combustion of glucose, as depicted in the reaction below, using two different methods:  bond dissociation energies and standard enthalpies of formation.  Use your book to find the appropriate values. The Hfo GLC = -1260 kJ/mol;; 


	 C6H12O6 (s) +  6O2(g) (  6CO2(g)  +  6H2O(g)





Bond Dissociation Energies:                                                                      Hf0








Calculate the enthalpy of combustion of hexane, as depicted in the reaction below using two different methods:  bond dissociation energies and standard enthalpies of formation.  Use your book to find the appropriate values.  The Hfo HEX = -167 kJ/mol. 


	2 C6H14(l) +  19O2(g) (  12CO2(g)  +  14H2O(g)





Bond Dissociation Energies:                                                                      Hf0
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The oxidation of long-chain carbon molecules powers our society and our bodies.  Consider the following combustion reactions of two different molecules each containing a 6C chain:  hexane (C6H14) and glucose (C6H1206).  Their structures are shown to the right (without lone pair electrons).
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